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L Answer the following questions: 1x6=6
(1) Which one of the following orgamzatlons has

been designated as the nodal agency for
-.conducting National Family Health Surveys ?

(a) Government of India

(b) International Institute for Populatlon
Sciences

(¢) Indian Institute for Populatibn Sciences
(d) National Sample Survey Otganization
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(ll) Whlch one of’the followmg is a llnutatlon of ) thh one of the followmg condmons is
: '-Census? e o 'charactenzed by the second stage of
' Demographlc Transmon?

(a) llectlon of mformation on thlrd gender @ L blrth ghdeathrate o
: : ow rate,Hl L

(b) High birth rate, High deathrate
(¢) Highbirth rate, Dechmng deathrate |

- (b) Collecnon of mformatlon, n‘Caste
(c) Frequentboundarychange T

(d) Several scheduledl
anguagm (d) Low birth rate, Low death rate

(iii) Whlch senes of the ¢ 'V
ensus pubhcauons in India (vi) Which one of the following theories considers

vedetanl SN : . .
g dataonmlgratlon? | population growth as. a ‘windows of ~‘
@). D Senes (b)' F Serie' L opportunity’ ? : ‘
NOXe) Serles D d (a) Pessimistic theory

) | ( ) M Senes () 'Optimistic' theory -

C R - . .

(.IV) :nsus Of Indla does not Provxde dire (c) -Neutralist

- information on which one of  the fol ¢ d) Economic growth th

aSpects? . 0_10W1ng (d) Economic gro eory.

(a) Blrths i , >. (5)- M: SRR ' 2. Answer the fbllowihg questions : 2x5=10
- gratio » .

(c) Deaths , " ] (i) How the population of an area changes over

: (@) Marrigge the period of time ?

(ii) Why population data are fequired ?
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(v) Whatdoyoumeanbyagesu.uu itio ?' N

2y '3 Attempt any six. of the. followmg questlons

' (l) WhatrsSampleS

| (ll) -What are the ‘Vital EVents’
"~ on'Vital Reglstratlon SYSten;? Wnte a bnefn ote

(m) Briefly explam the problems assocxate

‘ comparablhty of demogtaphrc data . w'th .

(IV) Discuss the probable future cha
. age-sex structure of the world p
with major reglons '

anges m the
opulanon ak,n;

(v) Provrde a bnef sketch of ag
-India's populatron

(vr) What do yeu mean by demoy ‘
‘ graphic divid '
Explajn its mplxcatrons on India's popullat?::lcll ?

(vii) State how the age structure trans

ition 1
the labour force transfonnatlon eads fo
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. Answer any two of the followmg questions

. 5"6-30 :
overC ey?NotedOan tage \

e-sex slructure of "

(viii) What do youmean by population ageing ?.

(ix) What are the potential nnpheatlons of agemg
for the scale of mlgratlon ?

10x2"20 |

® What are the questlonnarres / mterwew
* schedules canvassed in NFHS 2019-21? Give
brief descnptron of each one - of them.

(ii) Explain the role of demographlc dividend in
- India. ‘

- (111) Does demographxc transmon to lower feruhty

and lower. mortality imply ageing of population
?Elaborate it wrth examples ' A

. Answer any one ofthe followmg quesnons

14x1=14

(i) Describe the determinants and consequences of
the age-sex structure of populatlon in Indian
context.

(ii) Describe in detail about the populatlon ageing
as a factor for disease burden of a country.
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(Theory Paper)
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Full Marks -80
Time —

Three hours
Ny figures in the margip indic
V . for the qUCSt‘

e full mar
10ns,

1. Multiple-chojce type Questiong (all Compulsory) .
TS . : 1x6-?6
(i) Akeystone SPecles is gy, that jt p a4

(@) no influence on ap €Cosysten,
(b) disproportionate infly

: cnce On an eCOSystem
(¢) potential to displace

Native Species
(d) None ofthe above

(a) genetic diversity
(b) species diversity
(¢) both (@) and (b)
(d) None of the aboye

77/63/2 (SEM-3) GGy 306(A,B) ©)

iri biosphere 1s
(iii) The main nitrogen reservoir in the biosp

the )
cks
(a) occan ar(B)iro
ism
(c) atmosphere () OrS?qu

: ort was
(iv) Hindukush Himalaya Assefgment rep ‘

released by 7
(a) ICIMOD (b) WHO
(c) UNHRC - (d) UNSDGS

(v) The golden quadrilateral project was launched
\/

in the year
(a) 1999 | (b) 2001
(c) 2005 (d) 2007

i) Which of the following country is the first to
v sign a carbon emission reduction agreement

with the World Banks ?
(a) Nepal (b) Bhutan
(b) Japan (d) India.
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2. Very short type questlons (all compulsory)

(1) Whatlsblomass? 2><5—10

(ii) Whatis scOpmg ?

(m) What dO YOH miean by Sllsfamable develc;pmsnt ?

.' (w) Whatxs desertlﬁcatlon?
(v) Whatdo you meaﬂb}'blologICal legacles?
3. 'Shortanswertmequ%llons(answerany ):
six

’ (l) WnteaShort noteonsEA 2 5%6=30
. (u) Explam in short about mtrogen evel
. yc
(iii) Why functional leers =

A (iv) How mangrooves helps m mamt

E CCOSYstem? - gcoasm'

(V) Writea shortp h
7 hreats. aragtap on global env'm“menta[

(vi) Explam about s1lvopastoral system '
(vu)Explam the ﬁmcuon ofNGT

(viii) Briefly explain abou ‘
t Int
management. egrated coastal zope

(lx) Explam in'short about the prmcnples of EIA,
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Descriptive type questions (answer any two)
, - 10%x2=20

(i) Explain in detail the major ecological p'ripcnples.

.‘,(ii) Describe the major egvironmentél problems

related to urban areas.
(iii) Describe in detail about the majo,r.'reasons of
biodiversity loss.

Advance answer type questions (any one):
14XI 14

(i) Explam the pollcles and pmgrammes that have

been taken in India to minimize envuonmental

pollution.

different dimensions of the

ii) Explain the
W Bxp and and low land.

_ interaction between high 1
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